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Sr Questions Answers Choice

1 She is a pupil in class........................ at the junior school, she will shortly be taking her
diploma.

A. 3
B. 5
C. 7
D. 9

2 Je Wen-siu, a ......................... year old girl lives in the worker's district at Shanghai.
A. 12
B. 18
C. 16
D. 20

3 With the evolutionary............. all difficulties can be over come
A. spit
B. spirit
C. Spout
D. spilt

4 Indigenous equipment can produce bigger, faster, better and................. results.
A. Sweeper
B. Costly
C. Cheaper
D. Expensive

5 National machines and equipment are not entirely indigenous since they possess a number
of.

A. Forum
B. Farm
C. Foreigner
D. Foreign

6 Mao's famous maxim is "Rely on your own............."
A. Faces
B. Forces
C. Freckles
D. Fears

7 They want to place the needs of man before those of the .....
A. animal
B. Beast
C. Machine
D. Cattle

8 The want development of the people's cultural life for the benefit of all instead of for the
benefit of the.........

A. Unverse
B. World
C. Few
D. Whole

9 Chinese want to create dedicated men whose happiness consists of serving their.................
A. Fellowmen
B. Family
C. Relative
D. Neighbours

10 What is taking place today in the world's most populous country is there fore the ...............
and re -education of man.

A. Misleading
B. Education
C. Rejection
D. Misgulding

11 Man's condition is a condition of war with every one against
A. Himself
B. Here self
C. Every one
D. Each other

12 Thomas Hobbes was............ In his Leviathan that man is at war with man.
A. right
B. true
C. wrong
D. straight

13 Any body invading the country would be literally................. in a sea of people.
A. Drowned
B. Flown
C. Soaked
D. Swam

14 The .................... Chinese provinces are 4400 kilometers apart.

A. 20

B. 30
C. 26
D. 40

15 The Great proletarian cultural Revolution has freed China from a traditionally
cumbersome...................

A. Cabinet
B. Workers
C. Bureaucracy
D. Engineers



16 The farmer does nto.............. to the cities because the industrial road passes through a
technically oriented agriculture and a decentralized industry

A. Flee
B. Fled
C. Flow
D. Files

17 Agricultural labour must not be .....................
A. Urben
B. Urbanized
C. Urbanned
D. Urbanism

18 Agricultural mechanization is being............. with consideration caution.
A. Introduces
B. Introduce
C. Introduced
D. Introducing

19 The masses stay put and carry on their traditional intensive ...............
A. Love
B. Rest
C. Comfort
D. Labour

20 Its modernization will have occurred without a................... from the fields.
A. Flight
B. Settlement
C. <br>Farming
D. Crop


